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Abstract

This project is the study and analysis of the finite diameter wire antenna. The antennas
are in fiee space and driven by two types of sources, i.e. magnetic frill and delta gap generators.
Pocklington integra!l equation and simpson’s rule are used to find current distribution on the
conducting wires. The results show that the current distribution has a maximum magnitude value
at the center and lowest value at the both ends of the antenna, A larger radius of antenna leads to
increase the maximum current on the antenna. It is shown that when antenna length is increased

the current distribution on the antenna approaches sine wave.
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#
Z = f{z,,2,) (232)
Vm = E: (Zm) (233)
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1 o ar dy
umanezdh lmuaunsaedi

M, =2E . (2.40)

7~ pln(p/a)

vint ldnandsduannsonaasmny Tdihuunnuves TuTu Inade

E[ (O Z)= 1 e_ijl _ e*ﬁmz (2.41)
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dieflouundasdutiauuydeairanamdaiiuans13ugud 3.1 nagldmums
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Current on antenna when change N and M
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——N=5
~=N=10
------ N=20
sl /S e amrdht == N L \R e ‘N=30
i".'.':'.‘.':.l
21 AT
€ il HLY
[ e Aee
5 i -
© 1 3 4 1
wid” [
.!'.'u' “i T T
0.5; e N o SAL SR
.....Ls A
1 1 1 1 1 1 1 1 1
-8.05 -0.04 -0.03 -0.02 -0.01 0 0.01 0.02 0.03 0.04 0.05

ninglii 3.2 szwusuitenfousnaurenvesnisernmie (v) Tasftswaudaudes
Fmualuusazyieuvesmooimliiinauiilindfveiy HUTIVUIAVDINTZUA I AT A
agi‘?iﬂ'Nﬂﬁwmmmznzﬁﬁw‘hqﬂﬁﬂmwamwmﬂ1ﬂﬁmaqw’f1q Funaveanszudesd
M3 annavInansenaeatollguahaesthevesmoeime iocsemaldsuntsuia

1 »
ponifurion Tasfis 1wanvouyesa e MATAIRIA ¥ = 5 9uRe N = 30 v2'ldrnssud

P d
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M7 3.2 HERIAINSELAIAITAATINUVAIR uHANT 2amimEn
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Ansamsduiinsnilandu f(x) $24 [a,5] amaumsdhadadl
b .
[£x)ax = s(f.,) (0.1)

wenvIAwaImIduiinsnauudld [a,6] udvdevsoniu 2M ludrudeu
[x, %] Arunadrundranitui h=@G-a)/2M Tauld x, =a+kh d1ufu

k=0,,...,2M uandl¥Ragufi n.1

m;..l’f f (x)
r/r';””l.-/

— > x
=X X X Xy X, Xous-2 ¥ony Xue = b

1l 0.1 mansagasveamssunsinanuunduidu

ar

» v
gariumvesmsounitnInonadulscnouvestuil dFUAIAT 1 @ B9 b a0

dszanaldnn
S(f.h)= ;U("zk )+ 4S (e )+ /() ®.2)
n3n
S(f,h)=§(f0 F4L 20548 S 3 ¥t 2 fpn ¥ Y orgs + Font ) (n.3)
EL)

SUH)= 2 (rla)+ 76D+ 2 zf( )+ ‘”’zf(x,k ) (0.4
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a 4 = o
dmiuewerimela Inafiunanng msnsgnvvesnszugannsodou Tty

a,l, sin[k(% - z')], 0<z'<]/2
L(x'=0,y=0,2")= (v.1)

al, sin[k(é + z')], -1/2<2'<0
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w d

d o [Y) o
fndifannnes A dmiuuvasnuilanszua i g

o o = 4 ) 1
ANUIFAINNDT A Qﬂﬂ”ljﬂ']'llﬂﬂﬂ'm'Iﬂﬂ'l']l]ﬁu'llluuﬂizuﬂ‘lﬂﬁ‘] J 1uﬂ1ﬁﬂ1ﬂﬂ1ﬂ

] w & A o or 4 o
ﬂ'nl.lﬂ'Ll'lllu'HYIﬁﬂ‘ﬂﬂgllﬂ'llﬁUﬂuUﬂ\?ﬁllﬂ'lﬂll.lﬂ‘]ﬂ']ﬁﬁ
V:-B=0 (.1

o Y ' ¥
psmpMvedndansouny B nnamesondmils il ldaumsde lad

V.-VxA=0 (n.2)

& & o e PPV 4 s o
Ve A ﬂﬂﬁﬂm‘]ﬂnﬂlﬂﬂiﬂquuﬂ:’:ﬂ’l"uﬂ1"

B,=uH, =VxA (n.3)
-~
e
1
H, =—VxA (n.4)
J7, _
wnu (1.4) asludumsuundioad
VxE, =—jouH, (n.5)
2z'lé
VxE, ==jouH, =—jaoVx A (n.6)
aums (.6) aunsavou vy
Vx[E, + joA]=0 ®.7)

o W A s & a ¥
dmfumsmpumvesnmeswwilimidhieud dannsodouliegluglves

Vx(-Vg,)=0 (.8)
vl¥oums (n.7) wldowii
E, + joA=-Vg, n.9)
niothauns (.9) widouniit
E,=-V¢ - joA (n.10)

o = 4 . . 4 o 4 9 1
¢, Ao dndIrhiFsainans (electric scalar potential) Fadluiaridulundazdumis
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A s A g 3 w o s
LHOHIAUNT (ﬂ.4) 3J1ﬂml‘|nﬂ¢ﬁﬂﬁﬂnﬁ‘llﬂﬂﬂuﬂ’]ﬁ (ﬂ.lO) Tﬂﬂi‘ﬂlﬂﬂﬂﬂHmﬂ‘l‘iﬂmnﬂmﬂﬁﬂﬁ

1

VxVxA=V(V-A)-V2A @.11)
UNUVx A =B = 4H , aslusums (n.9) 18

Vx(uH,)=V(V-A)-V2A (n.12)
1 4 mIeasadums (a.12) v lddl

VxH, =L [V(v-A)-V?A] (@.13)
r

WU Vx H Sanuduinifuumasdnia J uag E enwaunisveaundiad ae

VxH, =3+ jowcE (n.14)
unuaums (9.14) asluaums (a.13) niondagilanms 14

13+ joueE, =V(V-A)-V’A | (A.15)
ileunuaums (0.10) aaluaums @.15) 118
VIA+ kA = +V(V-A)+ V(jopep,)

=—yJ+V(V-A+ja)y£¢e) (R.16)
dlok? = o’ ue
Wonwdwzminualiauns (a.16) Hsnih

|
joue

V-A=-joucp, = ¢, = VA (n.17)

4 [ 4 s
s (A.17) 190i3un 1 Rou lvaoisud (Lorentz condition)

¥
UNUAUNII (A.17) avlu (n.16) L AUNIIAIN

2 24 _
VA+E"A=—1d (.18)

19181 A snauns (7.18) ua sxannson E 1ann
-1

——V(V-A) (7.19)
joue

E, =-V§, - joA = —joA -

qun1s (0.19) 92 1asun5i1 11 luRnsanisnszivavesaunu Idfnnasnns

witlonhweanssua J, Tuumi 2
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Tsunsdinszvimeommdualnnuuduas

Tsunsnmeareuilszney (element Zmn)

mMIvimamsenouves [Zmn] 92 190 naums (2.18) saufunaninasivosFuil

’ ¥
Fuluounsf (0.3) ansodoudiuaums 1daadl
3k a3 vk koK Ok 3k Ok sk ok ek kb ok ke ok ok o koK ok ok ok ok i sk i e ke ok ok ok s ok ok o ok sk o ook sk o ok e o aj e e ook s ok ol ok ok ok ol ok ko Ok kol ok Rk ok

clear all
clc

%*i—*******

$constant
%i*tir**irir*

c=299792458;
w=2%pi*g;

%************i*

$Initualization

%*****i********

N=5; ¥number of segments
M=100;

1=0.1; $length of antenna
a=0,005; %radius of wire

b=2.3%a;

e0=8.854*1e-12; %free space permittivity
beta=(2*pi}; $wave number

Dz=1/N; %length of a segment

zmn=zeros (N, N) ;

for ii=1:N
z{ii)=(ii-((N+1)/2))*Dz; %position of each segment
upper (ii)=z {(ii)+(Dz/2);

lower (ii)=z(ii)-({Dz/2);
step{ii)=(upper{ii)-lower{ii))/(2*M):;

for kk=1:{2*M}+1

21 (ii, kk)=lower (ii}+(kk-1}*step{ii}; $position of z'

end

end

for xx=1:N

for yy=1:N

temp99=0;

for zz=1:(2*M)+1
h=(upper {yy) -lower (yy) )/ (2*M};
templ (xx)=z(xx); $position of =z
temp2{yy,zz)=z1(yy,zz);%position of z'
temp3({yy,zz)=templ {xx)-temp2(yy, zz);
big r2{yy,zz)=sqrt(temp3(yy, zz}*temp3(yy, zz) ta*a);

temp4 (yy, zz}=1+j*beta*big r2(yy,zz);
temp5 (yy,zz)=2*big r2(yy,zz)*big r2(yy,zz)-3%a%a;
temp6 (yy,zz)=tempd (yy, zz) *tenp5 (yy, zz) ;
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temp7(yy,zz}=beta*beta*a*a*big r2(yy,zz)*big r2(yy,zz);
temp8 (yy, zz)=tempb (yy, zz) +temp? (yy,zz):

temp9{yy,zz)=-j*beta*big r2{yy,zz);
templO{yy,zz}=exp(temp9(yy, zz));

templl (yy,zz)=templO(yy,zz)/(big r2(yy,zz)"5};
templ2=1/(4*pi*j*w*el);

templ3(yy, zz)=temp8(yy, zz} *templl {yy, zz) *templ2;
t=mod{zz, 2);
if zz==

templd {yy, zz)=h/3;

elseif zz==(2*M+1)
templd (yy,zz)=h/3;

elseif t==
templd {yy, zz)=4*h/3;
else
templd (yy, zz)=2*h/3;
end

templ5(yy, zz)=templd (yy, zz) *templ3 (yy, zz);
temp99=temp99+templ5(yy, zz});

end %loopzz
zmn (XX, yy)=temp99;

%************************

%******i*END Simpson*****
%******i*****************

mag (xXx, yy)=sqrt(real (zmn (xx, yy) ) *2+imag{zmn {xx, yy} )} *2};
phase (xx, yy)=atan(imag(zmn (xx, yy))/real (zmn (xx, yy))};
phase_c(xx, yy}=(180*phase (xx, yy)) /pi:

end
end

g**+x*function find voltage and current****+*+%g

[vm,mag_vm,phase_vm,phase_vm_c]=voltage(N,a,b,z,beta); %voltage of
magnetic frill

[In,mag_In,mag_In_n,phase_In,phaseﬁIn_c]=current(N,M,zmn,vm);%curren
t of magnetic frill

[vm_delta,In_delta,mag_In_delta,phase_delta,A1]=current_delta(N,M,zm
n,Dz); %voltage and current of delta

Y% %% %% % %% % Y% % % % %% % % Y% %% % % % % %% Yo% % %% % % % % % % % % % % % % Y



32

Tlsunsy Wedvumanszug

1 A ar dw
asvAsInszua s 19aun1s (2.37) Baausomion1Usunsuladadl

ok o ok o K Kk ok o ok ok kR Kk ok kR oK Ok kR R ROk ok ok ok kR ook R kR Rokok ok ok ko bk ook kk ok ok ok ok ok ok

function

[(In,mag In,mag In n,phase In,phase In c]=current(N,M, zmn, vm}
vm=vm';

In=inv{zmn) *vm; $find current

for kk=1:N
mag In(kk)=sqgrt(real (In(kk))"~2+imag(In{kk)}"2);
mag In n(l+(M*(kk-1}):M*kk) = mag In{kk};
phase In{kk)=atan(imag{In{kk)}/real (In{kk})};
phase In c{kk)={180*phase In{kk))/pi;

end

Yo% YoV Yo% % %0 %% % % %o % %o % Yo Y Y % Yo Yo% Yo Yo% Y %o % %o %o Y Yo Yo % YoY% %% % %%

Tdsunsu Haddummussdunuunsdwiman
] ar i 1 o Y a o (] I~ =
v R HINUM AR 1iauUUAHT AN AN (Magnetic fill) anso@ou I@enaums

A a 3 or c:‘
(2.41) FavouTsunsulanail
kA kb kb ke ke kol Rk R ok ok ok koo koo ok ok ok ke ke sk ok e ke ke sk ok

function [vm,mag vm,phase vm,phase vm c]=voltage(N, a,b,z,beta)

for xx=1:N

Rl=sqgrt{(z(xx)*z(xx})+(a*a)):
R2=sqrt ({z (xx)*z(xx)}+({b*b});
temp0l=2*log{a/b);
temp02=1/temp01;
temp03=-i*beta*R1;
tempO4=-i*beta*R2;
temp(5=exp (temp03) ;
tempO6=exp (temp04) ;
temp07=temp05/R1;
tempO8=temp06/R2;
temp09=temp07-templO8;
templO=temp02*temp09;
vm{xx)=tempi(;

mag_vm(xx)=sqrt (real {vm(xx))"2+imag(vm(xx))"2};
phase vm(xx)=atan{imag(vm(xx})/real{vm{xx))};
phase_vm c(xx)=(180*phase vm({xx))/pi;

end

%% %% % %% %% %% % % %% % %% % %% % % % % % % %% % %% % % % % % % % %% % % % % %
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function{vm delta, In_delta,mag_In delta,phase_delta,Al)=current delt
a{N,M, zmn, Dz)
for x=1:N
t=nod (N, 2);
if t==
n=(N/2);
n=ceil (n};
if x==n
vm_delta(x)=1/Dz;
else
vin_delta(x)=0;
end
else
n=N/2;
if x==
vmm_delta(x)=(1/Dz);
elseif x==n+1
vin_delta(x)=(1/Dz};
else
vin_delta(x}=0;
end
end
end

vm_delta=vm delta':
In_delta=inv(zmn)*vm_delta;

for kk=1:H
mag_In_delta(kk)=sqrt(real(In_delta(kk))‘2+imag(In_delta(kk))“2
Al {1+ (M*(kk-1}):M*kk) = mag In delta(kk);

B(kk)=atan(imag(Ianelta(kk))/real(In_delta(kk)));%phase in
radius

phase_delta{kk}=(180*B(kk})/pi; %phase in degree
end

Y% VoYY VoY VYo Yo VYo% %o Yo% Yo Yo Yo %o %o %o Yo% Yo %o Yo Yo Yo %% % %o % %% % %% % % % Yo
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clear all

clc

PR R

%constant
%******i—**

c=299792458;
w=2*pi*c;

%*i****i*******

$Initualization
%**************

N=input ('Enter of N

'} %number of segments

M=input {'Enter of M = '); %number of subinterval
1=0.1; %length of antenna

a=0.005; %radius of wire

b=2.3%*a;

e0=8.854*1e-12; %free space permittivity
beta=(2*pi):; twave number

Dz=1/N; %tlength of a segment

zmn=zeros (N, N) ;
for ii=1:N
z{ii)={ii-((N+1)/2))*Dz; $%position of each segment
upper (ii)=z{(ii)+(Dz/2);
lower(ii)=z(ii)-(Dz/2};
step(ii})=(upper(ii)-lower{ii) )/ (2*M);
for kk=1:(2*M)+1
2l (ii, kk)=lower{ii)+(kk-1)*step(ii);%position of z'
end
end

for xx=1:N

for yy=1:N

temp99=0;

for zez=1:(2*M)+1
h={upper (yy) -lower (yy}}/(2*M);
templ {xx}=z (xx); %position of z
tempZ{yy,zz)=2zl(yy,zz);%position of z'
temp3 (yy,zz)=templ {(xx)-temp2? (yy, 2z} :
big_r2(yy,zz)=sqrt(temp3(yy,zz)*temp3(yy,zz)+a*a);

tempd {yy,zz)=1+j*beta*big _r2(yy, zz);
temp5 (yy, zz)=2*big_r2(yy,zz) *big_r2(yy,zz)-3*a*a;
temp6é (yy, zz)=tempd (yy,zz) *temp5(yy,zz);
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temp7 (yy, zz}=heta*beta*a*a*big_r2{yy,zz) *big r2(yy,zz);
temp8 (yy, zz)~temp6 (yy,zz) +temp? (yy, zz); %

temp8{yy, zz}=-j*beta*big_r2{yy,zz};
templO(yy, zz)=exp{temp9 (yy, zz));
templl (yy,zz)=templO(yy, zz}/ (big r2{yy,zz)"5);

templ2=1/(4*pi*j*w*eD);
templ3(yy,zz)=tempB{yy,zz) *templl (vy, zz) *templ2;
t=mod(zz, 2);

if zz==

templd (yy,zz)=h/3;
elseif zz==(2*M+1)
templd {(yy, zz)=h/3;

elseif t==
tempid (yy,zz)=4*h/3;
else
templd (yy, 2zz}=2*h/3;
end

templS (yy, zz)=templd (yy, zz) *templ3{yy, zz);
temp89=temp9%+templ5{yy, zz);

end %loopzz
zmn (xx, yy)=temp99;

%**********************i—i-

%********END simpson*****
%*******************i—***i’
mag(xx,yy):sqrt(real(zmn(xx,yy))“2+imag(zmn(xx,yy))“2);
phase (xx, yy)=atan{imag (zmn {xx, yy) }/real (zmn (xx, yy) )}
phase_c(xx,yy)={180*phase(xx,yy))/pi;

end
end

[vm,mag_vm,phase_vm,phase_vm_c]=voltage(N,a,b,z,beta);
[(In,mag_In,mag_In_n,phase_In,phase In_c]=current(N,M, zmn, vm};

y=mag_In n;

stepl=1/{N*M);

for dd=1; (N*M)
¥ {dd)=lower{l)+(dd-1) *stepl;%poesition of z'
end

plot(x,y, ('-'))

xlabel ({'length of antenna'};

ylabel{'Current');

title{'Current on antenna when change N and M '};
hold on

Y6%%%% %% % %% % % %% % %% %% % % %% % % %o % % % % % % % % % % % % % % % % % % % % Y%
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clear all
clc

%*****i***

$constant
%*********

c=299792458;
w=2*pi*c;

Fhhkdhkkkokkdhodhk

$Initualization
%****i*********

N=30; %number of segments

M=100;

1=0.1; %length of antenna

a=input ('Enter radius of wire antenna a = "'); $radius of wire
antenna

b=2.3%a;

e0=8.854*1e-12; %free space permittivity

beta=(2*pi); ¥wave number

Dz=1/N; $length of a segment

zmn=zeros (N, N) ;
for ii=1:N
z(ii)=(ii-((N+1}/2))*Dz; %position of each segment
upper (ii)=z(ii}+(Dz/2);
lower(ii)=z(i1)-(Dz/2)};
step(ii)=(upper(ii}-lower (ii) )}/ (2*M);
for kk=1:(2*M)+1
zl(ii,kk)=lower(ii)+(kk—1)*step(ii);%position of z!'
end
end

for xx=1:N

for yy=1:N
Lenp99=0;
for zz=1:{2*M)+1
h=({upper (yy}-lower (yy) )/ {(2*M);
templ (xx)=z (xx); %position of =z
tempZ {yy, zz)=z1(yy,zz) ;%position of z°'
temp3({yy, zz)=templ (xx)-temp2 (yy, zz};
big r2{yy,zz)=sqrt{temp3(yy,zz)*temp3(yy, zz)+a*a);

tempd (yy,zz)=1+j*beta*big r2(yy,zz);
temp5(yy,zz)=2*big_r2{yy,zz)*big r2{yy,zz)-3*a*a;
temp6 (yy,zz)=tempd (yy, zz} *temp5 (yy, zz);



temp7(yy, zz) =beta*beta*a*a*big_r2(yy, zz)*big r2(yy,zz);

tempB (yy, zz)=temp6 (yy, zz) +temp7 (yy, zz}; %

temp9d{yy, zz)=-j*beta*big r2(yy,zz);
templO(yy, zz)=exp({temp%({yy, zz)):

templl (yy, zz)=templ0(yy, zz) /(big r2(yy,zz)"5); %

templ2=1/(4*pi*j*wrel); %

templ3{yy,zz)=temp8 (yy, zz) *templl (yy, zz) *templ2;

t=mod(zz,2);

if zz==
templd {yy, zz)=h/3;

elseif zz==(2*M+1)

templd {yy,zz)=h/3;

elseif t==0
templd (yy, zz)=4*h/3;

else
templd (yy, zz)=2%h/3;

end

templb (yy, zz)=templd {yy, zz) *templ3 (yy, z2z) ;
temp9S9=temp99+templs (yy, zz);

end %loopz:z
zmn {xXx, yy)=temp99;

Qe o ke ok e ek ok kb ko ok Rk Rk ok ok

%********END Simpson*****
%******************i*i—*i*

mag(xx,yy)=sqrt(real(zmn(xx,yy))"2+imag(zmn(xx,yy))“2);
phase (xx, yy)=atan(imag (zmn (xxX, yy) ) /real (zmn (XX, yy}));

phase_c(xx,yy)=(180*phase {xx,yy)}/pi;

end
end

[vm,mag_vm,phase_vm,phaseqvm_c]=voltage(N,a,b,z,beta);
[In,mag_In,mag_In_n,phase_In,phase_In_c}=current(N,M,zmn,vm);

y=mag_In n;

stepl=1/{N*M);

for dd=1: (N*M)
x(dd)=lower (1)+{dd-1) *stepl; %position of z'
end

plot (%, y)
xlabel ('length of antenna');
ylabel ('Current '};

title({'Current on antenna when change radius '});

37

legend('a=0.001\lambda','a=0.003\lambda','a=0.005\lambda',‘a=0.007\l

ambda'});
hold on

7%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%
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mindwaunewduanuendy @ouTdsunsy idaeil
*********t*****t***#*****************ttil*l*‘l********************t****l*******

clear all
clc

%*i—i*i—****

%constant
%*********

©=299792458;
w=2*pi*c;

T de ke ok e ok ke ek ok Rk ok ok

$Initualization
%*i**i’*********

N=30; %number of scgments

M=input {'Enter number of subinterval M = ');

l=input {'Enter wavelength 1 = '); $%length of antenna
a=0.005; %radius of wire

b=2.3*%a;

e0=8.854*1e-12; %$free space permittivity
beta=(2*pi}; fwave number

Dz=1/N; $length of a segment

zmn=zeros (N, N} ;
for ii=1:N
z{ii)={ii-{{N+1)/2)}*Dz; %position of each segment
upper(ii)=z(ii}+(Dz/2);
lower (ii}=z (ii)-(Dz/2);
step(ii}={(upper(ii)-lower(ii})/(2*M);
for kk=1:(2*M)+1
zl(ii,kk)=lower(ii)+(kk—1)*step(ii);%position of z°'
end
end

for =xx=1:N

for yy=1:N
temp99=0;
for zz=1:(2*M)+1
h={upper {yy)-lower {yy) )/ {2*M);
templ (xx)=z (xx); %position of =z
temp2 (yy,zz)=z1(yy, zz);%position of z'
temp3{yy, zz)=templ (xx)-temp2 (yy, zz);
big r2(yy,zz)=sqrt(temp3(yy,zz)*temp3(yy, zz}+a*a);

tempd (yy, zz)=1+j*beta*big r2(yy,zz):
temp5(yy,zz)ﬂ2*big_r2(yy,zz)*big_r2(yy,zz)—3*a*a;
temp6(yy, zz)=tempd (yy, zz) *temp5 (yy, zz) ;

temp?(yy,zz)=beta*beta*a*a*big_r2(yy,zz)*big_rZ(yy,zz);
temp8 (yy,zz)=temp6(yy, zz) +temp? {yy,zz); %



temp9 (yy, 2z)=-j*beta*blg_r2{yy, zz);
templO (yy, zz)=exp(temp%{yy,2z));

templl (yy,zz)=templO(yy,zz)/(big r2(yy,zz)"5); %

templ2=1/{4%pi*j*w*el); %

templ3 (yy, zz)=temp8 (yy, zz) *templl (yy, zz) *templ2;

- t=mod(zz,2)};

if zz==
templd (vy, zz)=h/3;
elseif zz==(2*M+1)
templd {yy,zz)=h/3;
elseif t==0
templd (yy, zz)=4%h/3;
else
templd (yy,zz}=2*h/3;
end
templ5 (yy, zz)=templd (yy, zz) *templ3(yy, zz};
temp99=temp99+templS{yy, zz);

end %loopzz
zmn (xx, yy)=temp99;

%**********i—**i**********

%********END Simpson*i***
%*********i*******i’******

mag (xx, yy)=sqrt {real {zmn{xx, yy) } *2+imaqg (zmn (xx, yy) ) *2};
Phase (xx, yy)=atan (imaqg {zmn (xx, yy) } /real (zmn (xx, yy))) :

phase_c(xx, yy)=(180*phase (xx,yy))/pi;

end
end

[vm,mag_vm,phase_vm,phase_vm_c]=voltage(N,a,b,z,beta);
[In,mag_In,mag_In_n,phase_In,phase_In_c]=current(N,M,zmn,vm):

[yy]=wavelength(N,z,beta,l,mag_In);
y=mag_In n;

stepl=1/{N*M);

for dd=1: (N*M}
x(dd)=lower (1}+(dd-1)*stepl; %position of z'
end
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function[yy]=current_plot(N,z,beta,l,magHIn)
t=mod (N, 2) ;
if t==1
n={N/2}+1;
else
n=N/2;
end
for c=1:N
if z{c)<=0
yy(c}=mag In(n)*sin(beta*{(1/2)+z{c}))};
else
yy{c)=mag In{n)*sin{beta*((1/2)-z{c))});
end
end
plot(yy, ("-"})
xlabel {'length of dipole'};
ylabel {('Current distributions');
title('Current distributions along the length of a linear wire
antenna') ;
legend{'1=1/4\lambda’', '1=1/2\lambda', '1l=1\lambda’, '1=3/2\1lambda', '1=
2\lambda "}
hold on
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